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ST. THOMAS SCHOOL, SAHIBABAD 
CYCLE TEST-III (2024 - 2025) 

WORKSHEET 
CLASS-II 

 MATHEMATICS 

TIME:1HOUR.                                                                       MARKS OBTAINED:_____________       MM:25 

NAME: ________________________________         SEC: _______               ROLL NO.: ______              DATE:___________ 

Q1. 

a) 

 

b) 

 

c) 

 

d) 

Tick (√) the correct option: 

Suitable unit to measure fruit juice in a small glass is _________________. 

(A) Gram  (        )              (B) Millilitre (        )     (C) Litre  (        )       (D) Centimetre (       )     

If today is Tuesday then tomorrow will be __________________. 

(A) Wednesday (        )  (B) Monday (        )      (C) Sunday(        )      (D) Friday(        )  

 We celebrate Christmas in the month of __________________. 

(A) January (        )         (B) October (        )       (C) August  (        )    (D) December (        ) 

6 × 7 = 45  −  

(A) 36 (        )                 (B) 50   (        )               (C) 42  (        )               (D) 3 (        )   

  4 

Q2. 
a) 

b) 

c) 

d) 

Fill in the blanks: 

The year begins with ______________________ month. 

Substances like water, milk, oil, petrol, etc are called ________________________. 

1Kg  = _______________________ g 

1 hour = ____________________ minutes 

 4 

Q3. 

a) 

 

 

 

b) 

 

 

 

c) 

Match the following: 

  

 

                                                                        

  3  

Republic day 

 

 

 

Half past 2 

 

 

 

3 times 3 
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Q4.        Look at the picture and solve the following questions:    3 

 

 
 

                                

  

a) 

 

b) 

 

c) 

How many triangles are in each group? 

__________________________________________ 

Write the total number of triangles. 

__________________________________________ 

How many groups of triangle are given? 

_________________________________________ 

Q5. 

a) 

b) 

c) 

Solve the following: 

35L + 27L                       =       ______________________ 

35 kg – 19 kg                 =       ______________________ 

100 cm + 50 cm          =       ______________________ 

  3 

Q6. 

a) 

b) 

Multiply the following with repeated addition: 

 3 + 3 + 3 + 3                = ____________ ×  ____________  =  ____________ 

 7 + 7 + 7 + 7 + 7        =  ____________ ×  ____________  =  ____________    

  4 

Q7. 

a) 

Solve the following: 

Ankit purchased 32 kg wheat from one shop and 12 kg of wheat from another shop. 
What is the total quatity of wheat he purchased? 
 

 T O 
Wheat purchased from first shop   

Wheat purchased from another shop   

Total quatity of wheat purchased   
 

4 

b) Raghu, the milkman, has 23 litres of milk in his dairy. He gave 12 litres to Jayraj, the 

shop keeper. How much milk is left with him now? 

 
 T O 

Total quantity of Milk   

Milk given to jayraj   

Quantity of milk left   
 

 

 


